S=1/1000

B EI A& % & B T
UP140m

B il 5 2 37 7 81 P
DOWN40m

Y

o
- 4 y
4

BE EllE BAER .\ ;.’ﬁ,‘/,'{// s 1, ]:’ 1 o 23
AR A A BT ) 'g_ 5T
B ™

E)

£ ]
[p— R2fE+ SRETEFTR
- —E SEEHIS

BRE% | REFEMR

IHEA | BET-—SEETi

" & | HETER

#®  R| s=1/1000 ﬁ@%‘ 1/ 3

BERRDBRLERR



Z W mEm HQ2IX)

2% W om $=1/50 8 & B om $=1/10

IR 5 S A A FTEMHEER
( TY ] C £EY ]

FE t=6cm
2R g = i% t=6cm
BLEMET X297 PREMQD) BEEHET X 77 L FRAN20)
2273— b (31 YHENHBRAAILE PKI-T 85 3=k (24 0B MHREASLEL PKI-T)
H[E t=6cm HE t=6cm
20 ! 050 BEMMET R T 7L HEEY (20 BARRET AT 7L MEEM (20)
(FY) (tY) 8y 52— (PK-4)

67777 8Ii 777
2000000 g - 7777777/

G

BEFRK 42

KE t=6cn B t=6cm
BETHEFRI 7L MESY (20) BEBHET7ZI7)L MEEY (20) As
HE t=6cm
ﬁiﬂﬂ&?x7vwFFé%Qm LERE ERERA)

100 150 100

TEREE(USYIvYIY)

T54 La— b (PK-3) F54 La— b (PK-3)

AR t=9cm
BEREFRENE (20)

£8 t-Gon RS oo KBRS B E IS THET 5 .
BEEMET X 77 L MEAD (20) BERERELE (20)

X%@%%ﬁ%}ﬁfﬂ#liﬁﬁlEﬁ(:%%i'@ﬁ’tﬁl L7= L TREREK
KEIHICHESEORERMEIC OV THEIERZERL
EBEDRHERD &,

SHERET YMITEMRE s=1/10

Cifft i 75 10 (&M 75 ]

I =2
BAEBRMET7 X2 (13) BEFHET7Z22(13)

v i=1/20
///\\/////////////////////////llll{mm”n”””""nﬂk, -

£ ]
[p— R2fE+ SRETEFTR
- —E SEEHIS

BRE% | REFEMR

IHEA | BET-—SEETi

HEE| RENERCK

XETHICEENERE R LEBEOREEEL L, Br |@EE8) 2/

BERRDBRLERR




C G e

SREEFFEIAT#R  SHECHERL=605. Om

Vs=1/ 100
Hs=1/1000

e TIER L=266. Om

[1TX] L=229.0m

THEIXME

[2TX] L=376.0m

BHEMEERL=229. Om

BHEHEERL=376. 0m

500 27 000 18 500_ 50 000 ‘ 50 000 ‘
7500 2.

10 00p

00

56 000

48 000

&L

13 000 28 000 53 000 19 000 14 500 27 500 7.000

E i)

I %4

R2fE+ SRETEFTR

- —E SEEHIS

BRE%

REHEATR

IHEE

Eam—EEET it

B @& %

HERRME

B R HEES

3/ 3

BERRDBRLERR



